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(1) ZEhteti(v) YTHOEREICEY v = 10 %
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al= 2.0 = 1.25
100
m = a1l X SL = 1.25 X 27 = 33.8 N/mf
X->T m = 33.8 N/mf
(3)KEA FEE(W/C) m = -22.4 + 29.8 X C/W
W/C = 29.8 + (33.8 + 22.4) X 100 = 53.0 % = [55% (_E[Rf#) ]
SW/C = 53.0 %
(4)$4¢7J<£(W) VTHROEMEICELY W = 172 ke/m
(5) Bzt A v FE(C) C =W +~ (W/C) X 100 = 172 + 53.0 X 100 = 325 keg/mi
Cv= C —+ #FF = 325 = 3.02 = 108 L/m
(6) 225 & (A) A = 4.5 % X 1000 = 45 L/md
(7)) BAHBEME(G) S THOEFICLY »IAEM = 0.601 m'/m FEREE = 59.0 %
Gv = 0.601 X 1000 X 59.0 +— 100 = 355 L/mi
Glv = Gv X 50.0 % = 178 L/m Gl= GIvXEREEE = 178 X 2.70 = 481 kg/m
G2v = Gv X 50.0 % = 177 L/m G2= G2UXRKWEE = 177 X 2.70 = 478  kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 680 = 320 L/m
Slv = Sv X 60.0 % = 192 L/t S1= SIvXFEWEE = 192 X 2.64 = 507 keg/m
S2y = Sy X 40.0 % = 128 L/m S2= Szvxi%ﬁmﬂ“ = 128 X 2.67 = 342  kg/m
(9)MEA = (s /a) s/a = Sv = (Gv+Svy) X 100 = 47.4 %
(10) BpEFAIE (Ad) Ad = C X iR BE = 325 X 0.6500 % X 1.00 = 2.11 ke/m
i & = ke /mi
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